Physics 105: General Physics – Practice Test 3 – Not actually due
1. A puck of mass 0.5 kg approaches a second, similar puck that is stationary on frictionless ice.  The initial speed of the moving puck is 2 m/s. After the collision, one puck leaves with a speed v1 at 30( to the original line of motion; the second puck leaves with speed v2 at 60(.  Calculate v1 and v2.  Was the collision elastic? Explain


2. A uniform piece of plexiglass is half a centimeter thick, has a density of 6565 kg/m3, and is shaped as shown below.  Compute the mass of the plexiglass as well as the x and y components of the center-of-mass. 









3. The pressure in a vein is 5kPa higher than atmospheric pressure.  
A. How high must an IV bottle be raised so that no blood back washes into the IV line (the flow rate would be zero)?  Assume a density of 1060 kg/m3.
B. How much higher must the bottle be raised so that a needle with a 0.5 mm diameter has a flow rate of 0.2 cm3/sec?

4. The object shown below is made out of 6 cubes of wood each having a side of 10 cm.  The density of wood used is 600 kg/m3.  We want to know whether the object’s center of mass will be below the waterline when it is placed in the bathtub.  

A. Locate the object’s center of mass (horizontal and vertical).  (Please put an origin in your picture.) 

B. How many centimeters of the object will be beneath the water’s surface? 
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